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UG/4th Sem (G)/22 (CBCS)

U.G. 4th Semester Examinations 2022

PHYSICS (General)
Paper Code : SEC-2

(Electrical Circuits and Network Skills)

Full Marks : 40 Time : Two Hours

The figures in the margin indicate full marks.

Answer all the questions.

Choose the correct option.

Each question carries 2 marks. 2×20=40

1. Three resistances each of 6 ohms are connected in parallel. What is the equivalent

resistance?

(A) 6

(B) 2

(C) 3

(D) 1

1. 6

(A) 6

(B) 2

(C) 3

(D) 1

2. The resistance (in ohm) of a ideal voltmeter is —

(A) Zero

(B) Infinite

(C) 1

(D) 100
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2.

(A)

(B)

(C) 1

(D) 100

3. The value of power factor in purely capacitive circuit is —

(A) maximum

(B) 1

(C) zero

(D) minimum

3.

(A)

(B) 1

(C)

(D)

4. What is the principle of A.C. Generator?

(A) Mutual induction

(B) Electromagnetic induction

(C) Energy conservation

(D) Momentum conservation
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4.

(A)

(B)

(C)

(D)

5. What is the frequency (in Hz) of AC in India?

(A) 100

(B) 70

(C) 50

(D) zero

5.  (AC) 

(A) 100 Hz

(B) 70 Hz

(C) 50 Hz

(D)

6. The average value of alternating current š) a complete cycle is —

(A) Zero

(B) One

(C) Two

(D) Three
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6.

(A)

(B)

(C)

(D)

7. Which device converts AC to DC?

(A) Inverter

(B) Rectifier

(C) Transformer

(D) Generator

7. AC DC

(A)

(B)

(C)

(D)

8. Which one is the semiconducting material?

(A) Fe

(B) Pt

(C) Si

(D) Cu
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8.

(A) Fe

(B) Pt

(C) Si

(D) Cu

9. Kirchoff’s voltage law obeys —

(A) conservation law of energy

(B) conservation law of charge

(C) conservation law of momentum

(D) conservation law of mass

9.

(A)

(B)

(C)

(D)

10. The commercial unit of electrical power is —

(A) Joule

(B) Watt

(C) BOT

(D) Watt-hour
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10.

(A)

(B)

(C) BOT

(D)

11. In AC LR circuit, which one is true?

(A) Voltage leads

(B) Current leads

(C) Voltage lags

(D) None of these

11. LR

(A)

(B)

(C)

(D)

12. The energy stored in the capacitor is —

(A) 1
2 QV

(B) 1
2 CV

(C) 1
2 IR

(D) 1
2 VI
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12.

(A) 1
2 QV

(B) 1
2 CV

(C) 1
2 IR

(D) 1
2 VI

13. The peak value of 220 volt a.c. is —

(A) 220 volt

(B) 311 volt

(C) zero

(D) infinite

13. 220

(A) 220

(B) 311

(C)

(D)

14. Flemmings’s left hand rule is applicable in —

(A) motor

(B) dynamo

(C) transformer

(D) none of the above
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14.

(A)

(B)

(C)

(D)

15. In AC generator energy transforms from —

(A) mechanical to electrical

(B) electrical to mechanical

(C) thermal to electrical

(D) none of the above

15.

(A)

(B)

(C)

(D)

16. The KVL is called —

(A) loop rule

(B) junction rule

(C) branch rule

(D) terminal rule
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16. KVL 

(A)

(B)

(C)

(D)

17. Alternating currents can be produced by a —

(A) dynamo

(B) choke coil

(C) transformer

(D) electric motor

17.

(A)

(B)

(C)

(D)

18. A capacitor acts as an infinite resistance for —

(A) DC

(B) AC

(C) DC as well as AC

(D) neither AC nor DC
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18.

(A) DC

(B) AC

(C) DC AC

(D) AC DC

19. With increase in frequency of an AC supply, the impedance of a LCR series circuit —

(A) remains constant

(B) increases

(C) decreases

(D) decreases at first, becomes minimum and then increases

19. LCR

(A)

(B)

(C)

(D)

20. The dimension of 
Inductance

Resistance
 is same as the dimension of —

(A) time

(B) capacitance

(C) current

(D) voltage
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20.

(A)

(B)

(C)

(D)

_____________


